Tea
X
+ .
mx—|—n—at)o}1’a+
=002 g o
B
7m 0
+n 9

m-{[’]



® 6x2-5x+5=0

® 6x>+5x+1=0

@ 6x2_5x+1:0

@ 6x>2-5x+2=0



O| AT 622 +ax+b =02 F 2ol 1, -2 L |, a—b 2] FL2?

D -18 @ -6 ® 6 @ 18 ® 24



@ x2-19x-84=0

D x2+19x+84=0

@ x>-19x+84=0

@ x2-84x+19=0

® x2-20x+84=0



OJAFFAFA (x+1)(2x-5) =02 ax’ + bx+c=0 9 H=Z 113 o,
a, b, ¢ o F27

Da=-2,b=-3, c=-5 @ a=2,b=-3,c=-5
®a=-2,b=3,c=5 @ a=2,b=3,¢c=5

®a=-2,b=3, c=-5



6. O AASKZ +bx+c=02 F 22 17257 0 px2+

o
cx+1=029] % 2 Fe9

@_9 @_2 @_5 @—g @2



@ 2 ® 3 @ 4 ® 5

D1



a, Bl & o, op O 27

2 1
@‘g ©_§

@ 0

OJFFH A 2 4 bhxta+1=029 Zo] 4, -1 L, ax?—bx—2=0

Wl






10. OJAHAA ax? +bx-10=0 2] 37} -2, 5L W, a + b 2] G227

O -4 @ -2 ®1 @ 3 ® 5



